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Parasternal Short-Axis View (PSAx)



PSAx (PM level)

1. The most round LV attainable

2. Both PMs visible and approximately the same size

3. MV and AV do not come into view at any time

4. Both LV and RV are fully visible

5. Centered on LV
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Exercise 1
This squid-like shape, a paraboloid, 
represents an LV

Open a phantom 
with a green-blue 
lid
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Problem Possible Cause Solution

1 Oval LV and/or flat septum Over-rotated, resulting in oblique cut rotate
2 One PM is larger Over-rotated, resulting in oblique cut rotate
3 MV or AV are visible Wrong level of PSAx: MV or AV level tilt

4 Either LV or RV are not fully in the view Probe is rocked to far to one side rock

5 LV is off center Probe is rocked to far to one side rock
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